Sl No.: | - B o SABT/17

uglay
GTERT

o 2017
Qurgs sl Qurg idleybd
(Degree Standard) .
a@uﬁﬁiusuuL@dmr (ﬁ;bmbz 3 wenfl] | ' [Quorgs wHriQuearaser : 300
dlamssensg ufoaisGuen SpssaL AMe@Is®ar SUMLTSU L E86 D

w&du syfeyemgsdr - _ b

1. @bs odems Qereuy Gsiey Gsmigausde 10 FlLRsEEs paegns clleTeRTLILISIT T HEBES
QupBISLILHID. : _ )

2. Qs Namg Aprgly 200 damssamad Qarar@erarg). e weflés Agm. kigupsn GeucamsQAsa@iSa
Toer siamsaEsn @i b Qubpidreratar sreTL@SWD Gl uld T QaIDDISETETSE 2 TaTEeN LIS (D
sfluniggs Qs gGsEHD G@PUI® SrliGen, sgemear uis BB ESESGH Japsenstaiiurarfiib
QAsfefipg, sfums osrar CaQprm eamp Apr@LnImar Qupps Gardrar CaamBi. Caitey Gzm_ruflw SQeny,
perpuiil L ellam Qgr@iy wrpdls SriLL WL g : :

3.  eaderdamssgnEe o wafssab. adan ellamssehio swwrear wHNELRTEET CareLme.

4. eisEerwu ufe aerman Gbsl LEsSHE awg Cuod gomaudia SisHAser semoigietar Qe Hhisar
er(ips Ceuam (. Ceugy T el CBFEULIE (PSS RIS, :

5. AeL_seer GHEE &1L erar, eflanLSHNET Qe 2 BISEHES sansTeilLTarTeD SFUIUGLD.

6. casermw ude erar, CoieysgreT cram wHMD clamsASTELL eufllens ere (S1. No.) gpsedwaupapuib
Henpsnefen @ram md LEEFHS DmausEhEsis s@wpgaer GLusdlid S Sy smew Hp
ey Lgpamat Guantelane @isgis srl L Cauearpu. Gupsear dughsame eflenL_ggnafier fuser
EDEHE s1L§ sauflame Caieuraesi fledsmsuio @B G Gerereuny pLsunbes Gop@araTemiLBID.

7. el el A), (B), () wipt> () erer preng shlan_semond Qe friser sieausafio S0 g slLimen
HenL_snus Cpirey Qi igs afflem_gnefied Giflssidé sm L CouadmpLd. GenisE Guopur_L sfwrer eflenLser agxm Caareilds
Binsnss swHame Ersar 6s siiuneng) crany crangé srgdfiaCear obs cfencow eflen et @Giiégis
smL Caugm(id. e ipumiab g Caiailé@ @Cr g alwLsmuggrd Caiptsbes Couehr(Bid. 2 EIHEHeLIL
Gomgs wHlQuens Srisaraflon_sgrafis @l sm (G sfwrnen el safier creraRiiEansen QUTMGSS!.

8.  cfleapgraie gaenm Cadel aaraflp@d afifie @), ®), © wig(D) een prene; eflan eulLEEaT 2 TaTe.
m Gaarells® ellerwiehés Brusdr sliGuer amand elaomw @G G e ault e LR UBS (pereTl
Guameilame @hlssis sm L Gadt@ib. ga@eunm Cadmallé@d o silmLmwus Caipos®ss e pgrald @Hés
Cauatib. g Caieils® gaméd CopulL eloLweissnd Sibs oL sapresias SBELILIGL. 2 FMeTons
Brusar (B) erenions sfuren aflenLwinsé spblama sieng Seraimony GHiEgs sn i Cagm@o.

| | @000 | .

9. fasdar ofams AgrEulan absl LEEFDSLID £55Caur sdag HPsEstCan smirgy. Csiey Corsfld Qbs
Senas QsrEliiaatur sideg dlmgsraatur Caias sLjmg AL Qeuafiuild rRSEHIF QFdEsaL_ng.
Ca b Sle_ Brise ; eflenL g 5 smamanfic b Qanhgg el :

L CeouaktRLo,

i
10.  @duyser aapdi uTILEHE elemms AsnEiSen swmLdl LEssHHEG ausasems e LCUTEGEE GarareremD.
11. 101 apge 200 susnpifieonen sllanmésafis gyride cugaild Ger@astiucBerar BHOUSETSTEN (Pig UTISTGID.
12.  eflemg Osr@lide eleiau @Ghuil.Geur, GBI G sriLGar sl mg;. | : '
13. Cupaar. sifemrsaid aoguraug Shlamd Ggiaunmermid W OReE@D HreuhsmssEhsE e dens
CpMG oren Sifloypss LGP ' ~ '
[ SEE BACKSIDE OF THIS BOOKLET FOR ENGLISH VERSION OF INSTRUCTIONS

fTurn over



101.

102.

The condition for the two X-rays, which will reinforce each other and produce maximum
intensity is

(A)  2dsinf=(n+¥%)A

B) 2dcosf=(n+Y%)A

(C) 2dcos@=ni

W 2dsinf =ni

B X-spampsdr genflevanbs, dumw Qebley o Boursss Ggma.lu.m‘sur Pubgenaniresg
(A) - 2dsinf=(n+¥)0i ’

(B) 2dcosf=(n+Y¥%)A .

(C) 2dcosé=ni

D) 2dsinf@=ni

If the distance between earth and the moon is doubled, then the gravitational force between
them would become '
(A) half
M one fourth
(C) double
(D)  four times
yiegw spiraseo Qeleorer gsms QoL wets yadamd Qupdlhe G Guuerar
yelluiiiiLg eflengwimeng)
A urdwuras @mEGLD
(B)Y & ugHurs QEpEGD
© 86 wi—rf'ué Bosed
(Dj BrEnE WL-BEG BHEGELD
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103. In plants photosynthetic pigments are located in .

A)
B
" 4

D)

Cristae.

Cisternae

Granum

Stroma

gneuphisefies gefl&Carsans Hipdlaet srariiuBid @b

(A)
(B)
(©

)

&flevGL

S Qe

lprend

e _Grmor

104. Proteins which are capable of replication within certain mammalian cells

(A)

(B)

d A

)

Virus
Mycoplasma
Prions

Bacteria

Lren’ . sefler Asdaafier 2 arCer LGUUMLIYD Yrshd

A)
(B)
(€)

D)
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105.

106.

Which one of the following is regarded as a Living Fossil?
(A) Archaeopteris hallina
(B) Pinus roxburgii

(C) Cycas revoluta

\ﬂ!( Ginkgo biloba

“2 T eum(pd AEmd@IUIT LigLo FTeugid” erem PSSR eTE 7
(A) %r'réuaﬁ]u.mﬁn_rﬂefu Qamndeilemr |

(BY enueman graevLTed

©) .66)6‘561'1) Qeugm’Lmr

D) HewsCar mu@_wrrurr

Which one of the following is an endemic species>of India?
(A) Asian Elephant

Y{ Lion-Tailed Macaque

(©)  Rock Python

(D) Panda

&Qy sruu_Heaaaeusafed, GbHwr ugHésehin elloidand erg?
A S wrenen

(B) SAnseurd G

(C) uvrep we@LILITDY

D) umewtLr &g
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107. Which of the following is a waterborne disease?
(A) Anthrax

(B) Tuberculosis

W Cholera

(D) Smallpox

Bireyeotd ur;aussei;u}m Grmi erg?
(A) pEesfEs (B

| (B) &arEGrmu

(C) Hreyy

(D) Quitwnbenwo

108. Aliabet oil field of India is located in
(A)  Gulf of Kutech
&  Gulf of Khambhat
(C) Vadodara

(D) Surat

@;b@u.lrréﬂén ‘el erasrQeri 6uwic’ .eimmﬁagjc‘rrm @b
(A  slé&aumagLr

(B)  smbug cuamer@GLT

(€C) «Csrsym

D) &5
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109. Pick out the option in which the two least populous states of India are given
(A)  Sikkim and Manipur |
(B) Arunachal Pradesh and Manipur
(C)  Arunachal Pradesh and Tripura

'  Sikkim and Arunachal Pradesh

Was@genps was bgraaanw Garear_ @@ @bdw wrhleorisdr 2 drer allea.emw Cairey Dalis
A)  Asfld wimd wewflCiyy i |

(B) @;@mn&m &q@g&ﬁ: LD[E)QII}; wesflLiLyfr

(C) mewmése GrGzad LHDID Hiflyrm

D) Asdb wpmd iHETESD FgCHED

110. Which of the following river lies in a Rift Valley?
(A) Luni.
| M Tapti
(C) Chambal

(D) Son

SpaTemib aThpS G LaTeILSTTSSTEEID StemLObHF) éirengj?
@ g

®B) sué

(C) sbud

D) Csren
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111.  The constituent Assembly which enacted the constitution for India was set up in

v’ 1946

B) 1947
(©) 1948
D) 1949

BpHu ardluemwino srfluempliy Hiamu sou THLBSEOIUL L syar(

(A) 1946
(B) 1947
©) 1948
(D) 1949

112. When did the Supreme Court of India had its inaugural sitting?
(A) 26, January 1950
(B) 29, January 1950 -

W 28, January 1950

(D) 15 August 1949

@B 2 55 fPodpsdean giass wiviey eriGung penALpDS)?
(A) 26, garaufl 1950
B) 29, garaufl 1950
() 28, gareufl 1950
(D) 15 eysevr. 1949
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113  The concept of ‘equality before the law’ has been borrowed from the constitution of

W UK . B) USA
(C)  Irish | (D) Sweden
‘sl gHen (e JemeneuHld FID” ETeD SMHSSHIMH Grpg B g.68r auﬁu.la)mwuq sLL 58S (mbs
QupiLr_L g
.4 grdenpg . B) Quisst
© giey | | - | (D) eveSLan
114. Match List I with List II :
List I ' S List II
‘ State ' Lake
- {a) Odisha 1. Pangong
(b) Manipur _ 2. Vembanad
(¢) Jammu and Kashmir 3. ' Chilka
(d) Kerala 4. Loktak
(a) ® @ @
A 3. 4 2 1
@ 4 3 1 2
w  s3s 4 1 2 -
D) 4 1 2 3

ulgue [gultguie e ér Qurmsss :

Lt ig e T A ligwe IT
w'lrl(ﬂa)Lb' ) arif)
(a) qus&T 1. unerGami
(b) wesfltiyi 2. G.utbua'rlr(a
© @D DD S BT 3. fear
(d). Canern 4. Gor&_rs
(@ . b © @
A) 3 4 = .2 1
B 4 3 1 2
) 3 4 1 2
D 4 ! 2 3
115. The Rajya Sabha should return Money Bill to the Lok Sabha w1th1n
(A) 12 days _ A B) 13 days
w 14 days A (D) 15 days
 wnilekisr Sienau ma;sma)ma;@ e v wlaergreaeu il &I@ll,.llﬂ MaUES Gf@,sgj QarereyLo
[ R
A 12priser A (B) 13priser
(© ldpriser | (D) 15 priser .
o ~ 33 | ‘SABT/17
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116. Match the following : |

(a)
. (b)
©

@

(a)
“ 2

®)
©
D)

Acts

National Plan of Action
for Women -

National Commission
for Women Act

Commission of Sati
Prevention Act

Indecent representation
of women (Prohibition) Act

b © (@
1 4

1 3

3 4

4 2

O = N
= N W

Geneumeeneupenn QUITHEES :

(a)

b

(c)

Gy

A

®

©
()

SABT/17

SRS

Qudm;@jésrr’m Cpélws
AL Qeudun®

GCaélw Queamadr L gHparen

<2}, NERTILILD

o LenalenL gose sHUY
FLL. BLENERTLILD

Quersamer $8MF Apenpuiléy
ArsAgss (SELLY) stb

@ ® © @

o W o= N
N e W
O = M B

Year

1990
1976
1986

1987

Q5L LD

1990
1976
1986

1987
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117. Match the following :

(a)
(b)
(©

(d) -

A)

B)

Author Name
Deaton, Angus
Minhas and others
World Bank. 1989

Dan&ekar and Rath
(a) ® | (©
1 2 3

3 4 2

w1 4 2

@)

3 4 1

QurmSHS :

@)
(b)

©
@

(A)
(B)
©
)

aepdweutlen QL
leC L 6, Dimisen

Wler@pmen 91.6ré. LOHID
WM DHeuTsHET ‘

2 & eunirdl 1989
m@' L&IT LOHmID oS

@ ® ©

@

@

.Booliournal Article

Adjusted Indian Poverty Estimaﬁ:eé for _1999-2000
India : Pc;verty, Employment ahd SocialSeries
Poverty in India, Dimensions and Trends

Declining Incidence of Poverty in 1980s

IO/ GHLCLPsdr Gfiey
&f danwouc L Qpdu amenn wHIISE 1999-2000

LS mgja)w,'-(ﬁmmwmnmuq WHDHILD Faps QemiT

@;_‘r,ﬂu.rrfeﬁ]o‘imgwin. uflomeRTibd WHmd Cunageser

| G@DHH UL cugrenio FlEpeyser 1980saficd
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118. The true measure of economic welfare is now cailed
(A) Welfare Econqmics
(B) - National Income
(©) Green GNP

w Net Economic Welfare

QumnneTng Ty ma)dn&mm 2 axmenoulled iamellHb Dumipg @m@ny alw;,pé:&ﬂu@@:drrmgj
(A) m@ Quratiue |

' (B) '- Caélw augporentd
(©  usew GNP

(D) HRay Qummarrgry Heoet

119. The share of mechanical and electrical power in agriculture in the year 20032004
(A) 40 percent |
J 84 peréent
(C) 70 percent

(D) 60 percent

20032004 gyeims. & Gauammainenioude GuisSy wppib Blenenggy Hpeiien ki agi?

(A) 40 spefigid |
(B) 84s5cS50

(C) 70556550
(D) 60 s56S500 -

SABT/17 86



120. Petroleum and Natural Gas Regulatofy Board (PNGRB) Act came into force in the year

121.

(A) 2003
B) 2004
(© 2005

v 2006

Qui Grred m;bg;u.b Bubens eumy @(pRIG WD SETLID FHURSSILIL L .ﬂ,am@

() 2003
®) 2004
(© 2005
©) 2006

Curved surface area of the cone is

A) -%-zr rh
B) ar(l+r)
'(C) zrt

w xrl

sabiGle arener LIy
@ %n rh

B) wr(l+r)

© art

(D) zrl

37
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122. Rani walks 20 m towards South. Then she turns left and walks 40 m. Then turning to right -
he walks 30 m. Again turning to his right he walks 40 m. Fmd the shortest distance
between the starting and the end point. .

{A) - 40 metre
% 50 metre
{C) 60 metre

D 30 metfe

gresfl QspE Hevsuley 20 B ml_é;élmrre‘rr. 2| Gar @Luqmmns Amw 9 40 S pLsAprer.
Howueyd awiypors Seod 30 Bl pLésdprdr. Sampbuend aetiypwrs Hemod 40 B i
pLé&fprer srafle Agn_sssddmbs DpHsstar GoDHEULE ZTSmS SRTHILGIG?

(A) 4080w
- (B) 5080w
) 608 Lr
D) 30dCr

123. A solid right circular cylinder has radius 14 ¢m and height 30 ¢m. Its curved surface area is
A) 2240 cm? | | |
(B) 2260 cm?
(O) ' 2460 cm?
& 2640 cm
P Hawo QpﬁmL; a,@a)mﬁﬁlér <7id 14 Qa8 Lo,rj)gj.Lb immﬁ 30 Q.8 erafled SiHe mmmﬁmﬁ;u _
(A) 2240 Qs..82
(B) 2260 Qs.52
(C) 2460 Qg.152

(D) . 2640 Qs.52

SABT/17 38 , | Y



124.

125.

s

Find tﬁe cost of fencing a square park of side 250 m at the rate of Rs. 20 per meter.
(A) Rs. 10,000 ‘o |
®B) Rs. 5,000

(© Rs. 15,000

W Rs. 20,000

250 BLLiT LsE Bietey AETaTL, S5IT eigeHleman um.sneﬁlm@ Geuall ammu B 9@@1&@ . 20 3
Q&wm Qagnd Gouell a@muugm@ G Qwrss QFwea eeren?

A . 10,000
®) @ 5000
© 15000

D) . 20,000

The ratio of boys and girls in a school is 7 : 4, If the number of boys is 2800, the total
number of students in the school is '

(A). 3000
(B) 3400
(C) 4000

@05 LaTatludiéd o dtar WwraTas mndreﬁlag;e_‘s@ Qe Cuiuyerar éﬁlﬁﬁtb 7 : 4. wreweufidn eramenflsens

© 2800 el Quomgg e onemrailufen arameriisans

(&) 3000 i
®) 3400
© 4000 i
(b) 4400

39 =l  SABTAT
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126. The cost of pen is ¥ 10 and the cost of pencﬂ is ¥ 3.50. Find the ratio of the cost of pencil

and pen.

(A)  6:20
B) 20:7
o 7.2

D) 6:7

R Guarefien efem T 10 HHD R Quérdidien el T 3.50 arafléd> QueAeian ellenavd@td

Guenrellen elmaEgLid 2 drer dildgsams aTams.

(A 6:20
(B) 20:7
© 7:20
D 6:7

- 127.  In 2013, the populatlon of a clty is 1,25, 000 After one year population 1ncreased by 7% then
find out the populatlon in 2014"

(A) 8,750 ' | _ )
@f 1,33750 |

(C). 1,186,250

®)  1,25,000

2013-% & ;asu,sﬂm LD&EET Q,srrma 1,25,000. 2055 .-_ﬂa,mnq.w 2ig 7% Gu@@mnmrrm 2014~

W&E&ET AgTenSeniis STas.

(A) 8,750
@) 1,33,750
(© 1,16,250
@) 1,25,000
SABT/17 ' : 40 T &



129.

@

(B

(©)

v

128, If p(x) = 7x® - 5x% + 3x - 9, then what is the sum of p(-1) and p(2).

33 .
~24
-9

9

p(x) = Tx* - 5x% + 3x - 9 erefléd p(— 1) wipd p(2) @eiplen mBpe eraran?

Gy
®)
(C)-
)

33

-24

-9

o

‘Which of the following value ig maximum?

@)
©).
®)

&
(o]

e .
Ot)lczo ooI

(0.8)°

0.8r

Desreumd s (ndiysefier) Qufiug) erg?

(A)

(®)

©)

@)

“

08
8
8

0.8
(0.8)°
087

41
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130. Usha borrowed Rs. 20,000 from Uma for 2 years at 7%% per annum._At the end of the

second year, what amount Usha paid to Uma if the interest is compounded.annually?
(A) Rs. 23,000
(B) Rs. 3,112.50

v Rs. 2311250

(D) Rs. 25,000

e.e@n ereLicuit o LomeflLw ap. 20,0008 7 % % &u.'.@éJ Cig eﬁ.ggﬂd: 2 Y ETDEEHES ST mmr':@mm‘r
craflev @lyeRrLmb e (Pu.ciled 2 agm, D_Lbn'eﬂ;i)@ srlauaTgw Agrens a@@m&q?

A) . 23,000 |

® 311250

© @ 23,112,560

D) . 25,000

131. If the vertices of a parallelogram taken in order are respectively (7, —3'), (5, 4),(1, 5) and
(p; —2) then value of p is

@ 1 - C® 1

© 7 : | o s

gt @eemarsBar 581 LaaRaer auflasw (7, - 3),(5, 4), ('1,.5) ppid (p, ~2) arar SiepETD
. p-érvdiy.

@ 1 ® 12

© 7 : : ®) 3
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132. Which of the fo]iowing is/are lbecomé possible for lengths of three sides of a triangle?
(1) 9 cm, 4 cm, 4 cm
{(2) | 13 em, 14 cm, 25 cm.
(3) 5cm, 3 (;m, 3cm
(4) 8cm, 4 cfn, 3cm _
W ©.0 L ® 0.0
(© @only . SR () B ¢ VN )

GemeuqneueeupmNeT eTg/ eTaneu g(h épés(%amqﬁﬂdn apeny LssRsaen Sarsas Bmas Bugiv?
(1) 9Gsi8 4Gs8 4068 | ' '
(2) 13 Qs.8, 14 G515, 25 Qo8

(3) 50@s.5, 3 @515, 3 Qaub

4 8Qs.5, 4Qs5, 3 Asib »

®w o . ® 06

© @uep B () B V)

133. Who popularised Vaishnavism during the Bhakthi movement?
(A)  Nimbarkara .
{B) Madhavacharya
(C) Ramananda

d Ramanuja

usd QuisssBen Gung a_rmmrm;ismg LG ieuit wimi?

@A)  Pouismr

B) wrgemsshui

© ‘Urrm,rrém;_ir,gr'n

D)  ymorggi ‘ |
s | VR | - SABTN7
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134. Who said that ‘Education in English was a political necessity’?
| (A) William Jones
‘d Elphinestoﬁe
(C) Thomas Munroe

(D} Charles wood

“@piflos s eretug SirflLgIEE GaHumownsg” erané sndwe i ]
A)  efoelwd Ggrenan |

B) er@Genen Ler

(C) pmoev wenCyrr

(D) g6 eyl

135.  Sido and Kanhu were associated with
w_- Santhal uprising j
(B) Khasi rising
(C) Kol rising

(D) Sangari revolt

HGLr b gy HAwea erp@yL e AFMLit L Leau?
(A) smhser s

B) &18l erpaf

©€) G erpsd

(D) sisf grl &

SABT/17 44



136. Which of fhé f;()-llo-‘aving is .incorrectly paired?
(4)  Dr.BR. Ambedkar — Poona Pact -
\d Gopalakria_ima Gokhale — Champaran Satfagraha
(C) Jinnah | '~ — Day of Deliverence

(D) Dr. H. B. Hedgewar _ —  Rashtriya Swayam Sevak

é@é&sn@umﬁ);ﬁ]d) §r§| gaupns Asm_uBSSUILC Bereng? |

(A Dr.B. R. aipCugsmt - 5@1&@&14'55&)

B) Csrumre éﬁl@dq;m.cans(gm - _srrLburJd'r ssHunflysd
© enan e GL a0 Qulaurered

(D) Dr. H. B. Qan&Qrant ~ ey flw swibd Greus

137. The author of the book ‘Indian'war of Independence, 1857

! V.D.Savarkar

(B) S.N.Sen

(©) = R.C. Majumdar

(D) S.B. Choudhuri

| ‘@ﬁ,ﬂ@ &gs(r_‘r,ﬁqucﬁm‘r, 185'-1’ Gl‘élLb_ snmm %r@ﬁu_umfr
(A) | V.D. &Gwrr'résasr'r.

- (B) S.N.Qses
©) R.C.uogrpem

(D)  S.B.Gsersdf

o | : 45 ' s SABT/17
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t

138. Swaraj is my birthright; I will have it was the slogan of? -

(A) Gopala Krishna Gokhale
(B) = Lala Lajpat Rai
(C) Bipin Chandra Pal

d. Bala Gangadhar Tilak

 “Bugrguib ararg) Apliyfens; sios prer sioLFGs SiGadr” - LT PPESID?

Q) Gamune Ageyent GanaGa

139.

B) oreragul rﬂruL"
©) QY9ér spByune

D) ure swsrgy Host

How many delegates attended th.e'ﬁrst ﬁeeting of the 'In&ian National congress? -
@ 70 delegates »
M 72 (ielegates
© 74 delegates

D) 75 delegates

- @Bdu Ggﬁu srrrﬁuﬂl;rﬂ‘;'&l WPHD LIBML g THFMaT 2 MUIANTEET SwbHg Qa;cra'm_arfr?

(A 70 emiiQeniser
B) 72 pliSerisar
©) T4eopuGeniaer

©) 75 epUSerisdr

SABT/17 , 46



. 140. The Nobel prize in 2016 for medicine has been awarded to -
| % | Yoshinovi Ohsumi
B J uaﬁ_Man’uel_ Santos
(©)  David Thouless

(D) Duncan

@ssusBhsTar 2016 2yb BerBEeAL Cprud Lifls @m@sé; QupRIstULLE
B)  CunhCemsd gsid |

B) daner mn@@md; gHCgme

© cLac giCad

D) Lensen

141. -Thé _pbv?erful “Hypno'guard'; software to protect data in sl;aep mode was designed by
- M Caﬁadian researchers |

B) Indianresearchers
(C) _Australian researchers
D) - Etiropean_researchers
gnés Poadigne AfuyLar @megh 68 enips ssad | urgsTiy  GuoenQurgmer
“@afliCenm ST -aeu Qg EUMDSSUTSAT, .
(A) .I se_m S LIQUmeniTEaT
®) @pFw ueurearTaer
© ;ébdoﬁcuaﬁm PR rrarr'rseiT‘
(I.)) 2Crmdw q,u]@rwn‘wér
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142. Who received the 521 Jnanpith Aﬁ.rard from tht; President of India?
(A) Dr. Raghuveer Chaudhari -
‘d Shankha Ghosh
(C) Kedarnath Singh

(D) Prathibha Ray

RS (ggtq.u.ny&g’ saaafiLmbs) 52&15; ;‘@ﬂmﬁl_ edmengls” Gugbgoeur'rl wmi?
(A)  cmé i peeit seygf

(B) ogiiar Caney

(C) QGagiprs aé]rin

@) Sydur pmi

143. Which city in India launched an “ambulance service” for animals in December 20167
(A) New Delhi

.(B) Hyderabad

\d Chandigarh

(D) Bangalore

Spfurelld eps peg webuir 2016-0 Nymefsserssnar ‘sausy Hdsms eaii Gaeneuenw

Qgm_ridluig?

(1';) L5 ALddel]
B) @apsyTUns
(C) segamt
D) Guiisenm
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144. Under the Benami Transactlons (Prohibition) Amendment Act, 2016 the punishment for
indulging in illegal transaction is

-

(A) 3years
(B) 5 years
(C) 6Gyears

d 7 vears |

Yermdl ufleuigsemet sHIILY FL ,ﬂ@gg wGsrgrellen 2016 Qe Lg, seupmer urﬂmwggmm&@

Qesrr@a;asuu@m gamn_mm& STLOTETS)
(A) 3B gyem(ser
(B) 5 yempaen
(©) 6 gyempaer

| (D) 7 ys@ser

145.. The 2016 Nobel prize in chemistry was awarded to
M Jean-Pierre Sa;wage, Sir Jémes Presur Stoddart and Bernard L Feringa
(B) . Paul Modrich
(C) Jacobus Henricus Van’t Hoff

{D) Tomas Lindahi, Paul Modrich and Ajees Sancar

2016 Caudulwgssmen Crmue ufls LTEHEES @.lg,}rél&uux‘_l__éj?

(A)  gear-GunCr sGeugy, 87 Gggbev 1Nyem RLTL wHHD <QuieTi® L .fo@urﬂrr'u.esrr
B) . umed Comgf&

(C) CgGsruev Qanenflae eumet  .amirL

(D) gmoe aSlem_ndl, umred Gomg & wHmIb Digge FenaTT

3 . 49 SABT/17
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146. Y-20 military transport Aircraft belongs to which country?

(A)

V4

©)

D)

USA
China
Japan

Russia

Y-20 @rngmieu’s Guné@eursgl ellwreamnd eTHBNLnLF FTTHSH?

A)
®)
©

D)

2dwhéas pedlu priser
Eeor
guumen

FagwIr

147.. Who among these is not an recipient of “Rajiv Gandhi Khel Ratna” Award 20167

(A)
B)
©

o

PV. Sindhu

Sakshi Malik

Jitu Rai

Sourav Kothart

Epaam_euis@ner 2016~ b @y psTar ‘Trege sMHs GCae Fen efgens Quprseur

A
®)
(©)
)

SABT/17

9o Agy

angaft wralls
S rmi

Qsemyey Cangsmi
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148. Who won the Wimbledon title in 2016?

(A)

Novak Djokovic

M Andy Murray

(©)
(D)

20166 aioGetel Camiemuepw Qausnpeuls wmi?

A)
(B)
(©

D)

Stan Wawrinka

Milos Raonic

Crmeurs Gggrr(?srréﬁ]#
ety (piGry
GUL_TEN GUITGUNBIST

tievrre Grmefls

149. Who won the world championship 2016 title in the Formula One (F1) Motor racing?

7.2
®)
(©
®)

Nico Rosberg
Lewis Hamilton
Max Verstappen

Sebastin Vettel

urr.r'r@pa)n gan (F1) Gurl i Crevdled 2016 e 2 ews smbllen ulLgeg Qubmeurt wimri?

A

(B)
©)

@)

BlCs grevQuité
Sefleiv CamLtebL_eb
Goseiv Gsﬁfrdupuuéﬂ
Qeumavig et Geul e

51
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150. Zone plate behaves like

&)

(B)

©)

a convex lens
a convex mirror

a concave mirror

\d as a convex and concave lens

T OSSO w1 Gure GruduBHpg.
(A) @ eflvenaw

®B) @l s

© o s

D) @i wppd G efldrana

151. When a ray of light enters a glass slab from air

\d its wavelength decreases

®B)
()

(D)

its wavelength increases
its frequency decreases

neither wavelength nor frequency changes

om gofls sforeng smhn omagdledmbE adman g UraFADEE Gaogid Gung

(A)

(B)

©

(D)

SABT/17

SISO SepBeTD GDIYLD
SIg@enL I BienaBemid s Hibd
DGO SFT6y GTERT (@6n DD

Sl BerGor sideg ifTQadrGemr erhs 6fg LIBDAPLD THLLME
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1;52. A base is a substance which gives OH'— ions in water
M Arrhenius concept
(B) Lewig concept
(©) | Bronsted-Lowry concept

(D) Usanovich concept

&ML Eretig) geﬁt_frmﬁﬂsb &b Qumpg) OH' —DWSNMWLG S(HLD
(A sraflue ssgeud

B  gnde shgad

©) dyrenav(B-weulf sSgIaD

(D) o ayrenreily s5F56UD

153. Among the following, which i1s an orgar'xic insecticide?

(A) Bordeaux mixture

v DDT

~(C) " Boric acid

(DY Sodium Borate

SeauheuameudMed arg) &l LsASGamDs m@ﬁgg?
(A) CGunriLméen LrSTé;Qir

B) #-4»4

(C) Gurflg sdlew

©)  Gomgquwid CurCyr

o 53 ‘ SABTN7
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154. The most important precursor of Vitamin A is

d B Carotene

(B) Xanthophyll
(C) Pantothenic acid
(D) Biotin
el Ller A swnflés Caenculiu@d &St Qungmer
(A) B sCpmligen
| (B) arenGsm.. Qe
C) ueCGLn@sals o faw

D) ' LG bt

155. The cell organelle essential for photorespiration in plants is
(A) Ribosome

(B) Dictyosome

M ‘Peroxisome

D)  Glyoxysome

@aﬂe‘; FOUTFLD PL 5SS Ggmsuu.mm-g,rrmu HiRTEmImI it |
(A)  erGunGeunbd

B) ¥éyCurGaumbd

(Cy QupréedGsmb

(D) dearuinsedCamid
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156.

157. .

Choose the correct answer from the codes given below :

Haemoglobin is the iron containing metallo protein found in

(a) Leucdcytes

h) Thrombocytes
(c) Plasma

{d) Erythrocytes

(A) Both (a) and (¢)
© (@ only

(B) Both (b) and (d)

W @only

Epsam gilviGsaial®mbg sluren seimw GarbAsH

abGur@gGetm9en aremp @y 2-Corsls yrgid sreriu@n dewser

(a) @uss GeucTenamuigrybser
by QIanmGunmgﬁ@sGh

{c) |£]arrr6iu‘mtr

@  @rés Aasugnisd

@A)  (a) wppd (0)
©) () wipbd

Find the correctly matched pair :
(A) Sex-linked ipheritance'

(B) Y-linked inheritance

(O) Sex-linked lethal inheritance
w Maternal inheritance

shlwurs Qur@BSSIUCL g aTEH?

(A) ureSienemt wry enfiuieT

- (B)  Y-urdSienemt oy euydiuekT

(C) unmelienemr Qamev iy eufidiiemy

D) gmi eyl wryluekry

B) () womid (d)
D) (d) wipw

Arthritis
Haemophiha
Albinism

Shell coiling in snails

2 Télenig e
apGurSefiuwim
<@9bisn

BEDF RUig el SMHEGEF SmeT
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158. Match List I with List II :

List I

Crop
(a) Wheat
(b) Maize
{c) Barley
(d) Ragi

() (b)
o2 o1
B) 1 2
(C) 2 1
D 1 3

List IT
Variety

Vikram
Sonalika
Sarada

Himani

ulgwe-I g ulyue-II 2 e QuTmSs:s -

(a)
(b)
©
(d

(A)
®)
(©)

D)
SABT/17

(@)

Uligwed I
uullir

| Carglenw

Garemb .
LImred

Capauns

(b)

ulqued IT

UDSE
efi&nd
Cemenedlgm
EADET

gublLomesf)

56



159.

160.

The DART system is associated with

(A) Forest fire

- (B) Voleano

d Tsunami

(D) Landslide

‘DART siemwiiy Yleneupio steupCon{ GsmifyenL wig?

INEEPTCY

(B) el

©C) semb
D Pessfley

How many times has the Indian Currency been demonetized so far?

A) One
W Three
(©) Two
®)  Four

@pdurele Ggeueny arggsmarn penn Lart iy Basd Qewiniio) Hererg?

- (A @G’ﬂ@

B)  apenm -
(©  Qrand
D)  preag

57 .
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161. Match the following :

(a) Justice Nanavathi and Shah commission 1.

(b) Justice Bellure and 2.

N. Srikrishna commission
(¢) Rajinder Sachar commission ~ 3.,

(d) Justice R.S. Pathak enquiry committee 4.

() (b) @ . @

A 1 4 3 2
B) 2 , 4 1 3
© 1 2 3 4
v 3 4 1 2
QU -
() pHursi prammaidl wHHD AT G L
by Edwupst QuaGam wbmib 2.

N. o dimeigemrm Gp
(¢) TCRBST sF5TT G 3.

(d fHuwgstR.S. Lgs eflenpaeT @ 4.

a ® © (d

Ay 1t 4 3 2
® z 1 1 3
© 1 2 3 4
D) 3 4 1 2

'SABT/7 | | 58

Status of Muslim community

Foot for oil scam in Iraq

Godhra communal Riots in 2002

Communal riots in Mumbai (1992)

@sordluilen flene

Qrradle perL Quibm 2 erelnE
GTenT(l Rl 24mLP6)

- Gangyr srdlCuyenfl 2002

epoeulde BeLQuHm srdu Cuyef
(1992) '



162. By which amendment the strength of Lok Sabha members has been raised to 545?

163.

W 42rd Amendment

(B). 44* Amendment

(C) 40 Améndment_

(D) 52rd Amendment

abs spfluemoly sl HBEEsHe b wisar Nmeler  aanafisms 545-25
2 WTSFLUC L §I? '

@) 42-am s pBmamD

(B) 44-aug s 58mssd

€) 40-aug s L sHmSHD

D) 52-cug oL BmEsD

Which amendment facilitated the appointment of the same person as a governor for two or
more states? ' -

(A) 24*h Amendment
(B) 4284 Amendment
M 7th Amendment
{D) . 2974 Amendment
&Gy Q@b Gty Sdag Gapse Copiul L wnflose L Epprms Slulids wigub aen s
L GAmEED TE?
A) 24y sl GBSO
B) 4Z-aug s FHBEHD
© T-agsLsfinsso

D) 22-aug L GEmSHLD
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164. Kishori Shakti Yojana scheme is for

' \A Girls of age 11-18
(B) 0Old women

(C) Rural women

{D) Educated women

HCGagmfl #84 Curgenr Hi' L b AsmfyeL g
Ay 11-18 auwgfiw Qemb Quasaser

B) auwgrer Quarser

(C) oans Quensdr

D) soafwdey Qupo QueksTaer

165. The doctrine of Rule of Law is associa_ted with
‘d A.V. Dicey . (B) Lord Bryce

(C) MK Gandhi (D) B.R. Ambedkar

“elLgHlen oy 8" eremp GarCur GLT® QgL ity wieui
A AV.eoL® | B)  Seoyed Gy

(©) MK smpd (D) B.R. subCussi

166. The report of the State Reorganisation Commission was published in the year-

o 195 (B) 1956
© 1957 D) 1958

wrBle wyérawiys gpelear Hfléms soTUd&siul L e[
(A) 1955 (B) 1956

(C) 1957 (D) 1958
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167. In the field of agriculture, India is lagging behind
(A)  Buffer stock
(B) Fertiliser use
(C) Cereal production

d Pulses production

5o @A BTG, eusTuiAG ab LBl e 51l 2. drang)
@) @owusosdmiy

B) o uweaunp

©  prafluhsd 2 pusd

O) umiy euesser 2 HUSS

168.  Prof. P.C. Mahalanobis model of plan based on the
(A) American expel'ien(;e
\M Russian experience
(C)  European experience

(D) Asian countries experience

Prof. P.C. Qunaarpmiev wrdfl S b D UuenLwing Qanam_g|.
(A  oQulssreien sgLausHs

B) peywmellsn a@uwgd)g

(C)  gCmuureier sigiueusms

D) = fwu prBsafier dgLIS®S

o] 61 - SABT/17
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169. The term “sustainable development” first used by thé
\K World conservation strategy
(B) Brundtland report
(C) World Commission on Environment

(D) World development report

ETDGENDN eueTTEA eTemp UFSME (PS5 WPHID LuaTLBSHug
(A) eosurgstiy ysd

B) Yo G  bsmas

C) sppéeyassTar o ws G

D) e wsCoburl® sdéns

170. If personal income is Rs. 57,000, consumption is Rs. 43,000, personal income taxes are
Rs. 9,000, personal interest payments are Rs 1000 and personal savings 1s Rs. 4,000,
disposable income equals

(A) Rs. 53,000
d Rs. 48,000
(C) . Rs. 47,000

(D)  Rs. 43,000

gmeauflar salpuit aumorend m. 57,000, seufen Bisitey . 43,000, gefisut eugomen aufl ep. 9,000,
gefluce ailly uestd @ 1,000 wpgd gefipur Calliy m. 4,000 aafle, syeuflan Qaaaufliuy

Q.I@LDITGUTLDITG&TQI

&) @ 53,000
(B) . 48,000
(© @ 47,000
D) . 43,000
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171.

172.

In a play ground, there are 43 students in the first row, 38 students in the second row,
33 students in the third row. There are 3 students in the last row. How many rows are there
in the playground? . _ '

@ 3
® 6
v
D) 12

T eﬁimmu.:rn'_@g, Sialer g afiaside 43 wvreraisesd, Qreamird  afl@suie
38 wremaisEED, apapreig eaflemsdd 33 wrameisEED o dratart. s@Ldl aflesudd
3 wrewreuirser @Liden, Sipg edamemun B S elld arpgenan auflasadr 2 drerar?

@ 3
B 6
© 9
O 12

In an Arithmetic progression if five times the fifth term and eight times the eighth term are
equal then its 132 term is

(A) 36

@& #5
w?’ o

® 12

R mL@,’ngnLﬁ]éJB-c%an] e mlen 5 wLBIEGD, 8-YYeug e PnGen 8 wL G Fob erafld
2 5Qsrfen 13—gpeug 2 miy argl? '

A) 36
B 3

€ 0
® 12
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173.  The surface areas of two spheres are in the ratio of 9 : 25. Then their volumes are in the

ratio is

(A) 81:625
w 27125
(C) 729: 15625

D)y 27:75

Gren® Cararbsefien aumaryiiysefien sldgd 9 : 25 arafle) BaupBlen sarsiaraseflen eflflzib
(A) 81:625

B) 27:125

(Cy 729: 15625

D 27:75

174. Find the heighﬁ of a parallelogram whose area is 49.92 cm? and base is 7.8 cm.

(A) 56cm
{(B) 6.6cm
(C) 54cm

d 6.4 cm

P Qovanargdlen Liuerey 49.92 Gs.15° Siger SigiLEED 7.8 Q.05 erafld GSSIWTD eTenan?

(A) 56058
(B) 6.6Qs.8
(C) 54Qs.8
(D) 6.4Qs.8

SABT/17 64 , o



175. If énglés LA LB, ZC, 2D of a.quadrila'teral are in the ratios 2:3:5: 8 ther_z' ZD equals-

@ 80
®) 100°
* 160
Dy 180°

@@ BrhaErESer Gaarrswrmjasm LA, éB ZC, 4D fwenr 2: 3 5:8 Grcnrg) AHzsHD
_ aqmmg@mmmaaﬂm £ZD e ALY '

A 80° .
®) 100°

© 160°

) 180° '

176. A car travels 420km in 5 hours. Find the distance covers in 7 hours and 30 minutes at the

same speed.

(A) 600 km
(B). 610km .
(€)1 620km

:\d 630 km

P wébs 420 8.5 gmseos 5 e Gpm,ﬁw asl_esaﬂg;g &Gg Cousgfler Qacoguu) méﬂ@p@

L4

7 weft 30 ;f,hﬂL_rm&aﬂw GraJaJenm BITEMGH SLEGLD.

(&) - 6004.5
(B) 61048
© 62088
D) 63048
o " e ‘ | - SABT/17
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177. What percentage is 40 paise of 2 rupees?

“  20%

B) 005%
. © 02%
@) 0.02%

- 40 eousn erénugl 2 mumlle arggamen FHESHD?

A 20%
®) | 0.05%
© 02%
D) 0.02%

178. The percentage of lAO‘minutes in one hour is

v 16%%

1,,

. ®) 16§A
(O 16%
M 17%

e wefludiér 10 il kisefen 3§Q§§Lb eTemUS)

2

(A ‘165% -
4 L
(B) 1654
© 16%
O 17%
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179.  The value of x satisfying v5+¥x =3 is

o 6

® 27
© 8
O 24

V6 +¥x =3 aralléd x gmﬂmgpeq Q@adnib m@uq

@) - 64
® 27

© 8

® 2 '

180. A certain sum of money ‘amounts to Rs. 10,400 in 5 years and Rs. 9,440 in 3 years
_ respectlvely Find the principal. :

(A) Rs. 6,000
v Rs. 8,000
. (C) Rs.9,000

D) - Rs. 10,000

G @jﬂLlIE]L.L_ S EDTEIZ) 5 %mr@ssrﬂe) e5. 10,400 .g,asequ: 3 .%am(l)a;aﬂa) @ 9440 4Ea LD

o orpdipg aaftd Jisd iy
A) @ 6,000
®B) @ .8000
(©)  .9,000
©) @ 10,000 o
& | K o | 67 rn B E R SABT/17
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181. Average of a,b,¢ is 12 and the avéragé of b,¢ is 15. So find the value of a.

\66_' | | ®) 5

© 4 - | o) 7

- a,b, c—an ggraf wdly 12 wHmid b, ¢ —a &ﬁm&rﬂ wdoy 15 aaflé a-ér wHOEu6nen?
A 6 I B) 5

© 4 | . ® 7

182. The GCD of 222 +3x—2, x2 —x—6, x% +3x + 2 is
@ 2x-1 : I : ufx+2

© =z-3 . WZE - op P

2x? +3x—2,_x2'—x*6, x2+8x+2 %isnﬁ.@urr.su
(A) 2x-1 . L % B x+2

©) x-3 O x+1

183. The G.C.D. and L.C.M. of two nurabers are 120 and 720- respectlvely If one number is 360,
the other number is

o 20 | ® 2% R -

(©) 210 | | (D) 200
'@@ eramgafian BUGUH Qum.eu. 120 whmb Sefig Quim.w 720. @m erar 360 erafld LD{i).@!DIT@. ereir

@& 240 o  ® 22

© 210 - @ 200
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- 184. Which statements are correct?

According to the Doctrine of Lapse.

L

II.

IIL.-

v,
A)
®)

©

The will of the Indian king was éccepted
The Indian Princess was allowed to occupy any place in India

Succession should never be allowed to go by adopﬁdn

' The British has the right to refuse the adoption of Indian kings

{ is correct

-

Tand II are'é:orrect

'III is correct

M III and IV are correct

Brigp0LE Qameransudenig, crenu sfliman FnDHMGET?

I

1I.

I

"

®

(C)

D)

@pduw eirsiseian 2 W> Fpms Qererar LD

@pdu EeTeursiger a1hs u@@&sa)ﬁmm @asLunD e wdlasiuBer

@p@lu &Uél'rés@é;@ §§Q;§i®,§5@ﬂ) 2 flenio Lnglé;a;uul;l__g

Qbdlu yrsisafien aurflens LLRHSED o fleno e g AwimarisE@sée o am® '

I &ﬁlu;lrr-eﬁgg '

I LD‘lj)@LbVII' &rﬂu_lrréu@

III sfwrang

Biii whad IV eflunearg A

69
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-186. The_ first Native étabe which -intréduced military.trainir.xg on .the Euroi)ean- model was
(A). - Golgonda | | | e
d My@ré
(C)y Oudh -

D) Kashmir

gCrmdw urerfilile Gl Luspé sieligs apso @;b@@ UGS ag?

(A) QGsreQaresLmr

(B) owg
©€) g
(D) smagbi )

186. In 1791, Sanskrit colleée at Varanasi was established by
(A) Wlllmm AJones : Lk _ = N
 (B) Warren Hastings
« Jonathan Duncan

(@) MaCaulay "

1791-& wﬁuérr}éluﬁlé) ;@&oeﬂ@g mbg:mﬂmu_u ;Elmqsﬁ]u;lmr’r
A)  Aodlund Ggeiren

3) Gl.lﬂ'l)’&!@ﬁﬂ)&l)lq.l’ildl)

(C) Qgrennggen u&msét

(D) @;oa;asncw
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187.

188.

Who called Queen chtonas proclamatmn of 1858 as “The Magna Carta of our nghts and
liberties?

@
®)

«
®

Dr. Rash Behari Ghosh.
Dadabhai Naoroji

Surendranath Banerjee

Alfred Webb

1858 gy eNEGLrAwr wargreanfiudie Gum,ﬂssmseou.l pm@am_u.l o_rﬂa)m&@w m,sp,ﬂup@m@mrrm
D& ETEANLD et Saeuls wimi”?

GV
®)

(O

®

.
118
IV.
A

(©

©)

L&L T gray Samf (Bsrraq.
grgrumd AperGrmg)
sCrpHopns urfarfr@
oG5 Qeul

~ Arrange the following items according to the chronological order .
- _

Partition of Bengal

Rowlatt Act o
Establishnient of Mu_é.lim League.
Cancell‘at;idn of partition of Bengal
I, 1L, IV, III \ N

I, IfL, IV, II

ILIV; I Il

IV, IO, 1, I

ﬁgéarrmngmm sTpenmUILIY. dﬁﬂmsﬂu@,’s@

L
IL

oL .

Iv.
A)
B)
A\®
(D)

’ e.!‘tél_swar 9 R eflener

Qpere UL D

apeveSid eSfen Garpow __
airfuqmar Gifieflenarenw Qrsg Gaiige
1, IV, III o
LOLIV, I

IL IV, 1, T

IV, 1L, I, 01 -

71
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189.  The idea of “Pakistan” was propounded by
| (A) Rahmat Ali |
(IB), Muhammed Ah Jinnah
(C) Abul Kalam Azad

< Muhammed Iqbal

“‘Urdlevgnen” GTENith TRTERTSNS Q_@mfré@wmfr
A ranwg el |

B) swvg < grdrmrr‘

© qué)sa)tﬁ.b I

D) sbog @éLmd

196. . f‘irst session of the Ir;dian Ngtion_al coﬁg_re'sé was held at..
(A) Calcutta
J Bombay
(C)  Chennai

(D) Delhi

BbSuws (égém_&uf&@l}d&w PE® sl L1d B Qupbp GLib
(A)  sasggm |
(B) umbGu
(O Qeenenen
e | | -
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-191. -' The recipient of Padma Shri Award for Lﬁerature and Education 20.17 is
QA Michel Danino
(B) Kanwal Sibal
(C).  Anuradha Paudwal

(D)  Meenakshi Amma

sefll HpId @G\Jé;élu.lggjmmuﬁléa 2017-1b gy&@mgpare uso LS eflmg Quppest wrd?
(A)  ewsGad LefiGarr - |

(B)  genesér AL

(C). Siermgm Quem_eumed

D) denrsad =9|LbLD.IT

192. The present union minister for Human Resource Developmen? in India is
d Prakash Javadekar
(B) Mahendra Nath Pandey |
(C)  ‘Smriti Zubin Irani
(D) Venkaiah Naidu K
@.‘rjr)éu.lrraﬁﬁ@ g;b(ﬁunmg'u.l weflg euer Cowur g hETen mg,ﬁu D|GDLOEFFT
@A) - tﬁlrf&rfsiq. RaGL &
B)  wCanbdy HTH LTeRTGL
©) G%I)lﬂlﬂ@ 1Nt Frymet

| (D) Geukiemasw BruyiH
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193. The purpose of launching “Urja Ganga Yojana” is
(A) Sﬁpply of clean Ganga water and gas stove
M Guaranteed supply of eco friendly fuel through gas pipeline
(C) Uninterrupted power supply

(D). Uninterrupted water supply

“e g arsT Gurgert” Ggm_sEiul L ger Gpn&s@

(&) gniewwrer stiems pA B wHHID maﬁu@ﬂu UPRGSD

(B) spYsFERRSG 5_5;35 erfi@ummenar erfleumys @omulen ppard siefliums e pBlQsise
(C) gL Wildar lersmb eupRIGSD -

D)  saLwlden Bir eiphi@sd

194. The 7t World Ayurveda Congress was held from December 2 to 4, 2016 at science city in

w Kolkata

(B) Mumbai
(C) + Chennai

(D) Bengaluru

Taug e & uiGag LTETH webur 2 apge 4, 2016 euay perLAuDHD HBleflwd BHFD eranp G Lb

SINLDHSIGTET LOTHEFLD
(A) Qarasggm

B) weau

(C) Qsenanen

(D) Guiisess
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195. ° Who was appointed as United _Nétions Sécretary General m January 2017?
w Antonio Guterres |
(B) Malala Yosaf Zai
() Dag Hammaukiold |

(D) Juan Manuel Santoé

sgemauifl 2017-é) g_éa_ﬂu.: BrpaEen muuﬁ]an Qungs G&uﬁsmnm&n&s Furdfssisu’ e u.nfr'r? '
(A) - SlenGLaaflGusr @ CLye

(B) Lo;;urrsurr Cuirsth amus

(©) Lréapmbups

(D)  gleuren Cogyeue sHgmaD

196. Who was eIectgd. as the prime minister of Morrocco in 2016?
v Abedelilah Bekirane
| B)  Luo Zhaohvi
(©) ' Karnal Singh

(D) AlbertH -

2016 G Clmm;rr(s(ﬁasm&]dr GgsLo mﬁ@rﬂwng CaibAgM&sLILL L el Wmi?
4 @ hqeeerGudyGer |

(B) Q]Gmrr smeyedl

©) sieméd A
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197. ' Who won the silver Medal in Women’s single Badminton competition in Rio Olympic 2616?

' (A) Saina Nehwal

@f PV Sindhu
© .Yusan
(D) Carolina Marin
2016 AGWN eSlibGsdéd waaflir gHenwit |_‘ﬂrﬂ.a.| Boe upgil Gum_yuie Qeueraflls ugsad QuDPS
wmr?
A) smuent Cpeured
B) Qe Apgl
(C) wGsarn.

(D) sCyrallenm Gofer

3 198. Ason January 2017, who is theall time highest goal scorer in world cup football?
M Miroslav Klose

(B) Liénel Messi

(C) Cristiano Ronaldo

(D) Neymar )

semeufl 2017 aueny e w&&GsMlaU STOLBE eureTDHier DFs CaTOEET Bug Fpeu wim?
(A) BCrreveeu &Germeiv |

(B) eGurarw Qudved

(C) AbevgunCearr GorenrdGLm

- (D)  Apdwr
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199.

“ Which country won the ‘Euro-2016’ foot ball championship?

w Portugal

200.

(B) France

(8] Ge_rmany

(D) Wales

2016 aroubg Gumigude ‘wCrr 2016’ smbiflwenélc - g Qeﬁdnm BT ergHi?

(A)  GuniTEEED

B)  Gyméns

© Qgivad
D) Caev

In which of the followingA state the ‘Tehri Dam’ is located?

(A) Punjsb

W Uttarkharid
(C)’ Uttar Pradesh

(D) Himachal Pradesh

Qeneumbd crtbu;rrjﬂa)fp@é) ‘QLAM Djemen SieMODHEHETETSS?
(A)  ugpeTs |
(B) e gsraam

© =gy SrCas>

D) Qurisw GrCgsb.
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Read the following instructions carefully before you begin to answer the questions.

10.
11.

12
13.

'IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 10 minutes before commencement of the
examination.

This Question Booklet contains 200 questions. Prior to attempting to answer the candidates are
requested to check whether all the questions are there and ensure there are no blank pages in the
question booklet. In case any defect in the Question Paper is noticed it shall be reported to the
Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination it
will not be replaced. ' :

 Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not

~ write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Invigilator to mark the answers.

You will also encode your Register Number, Subject Code, Question Booklet Sl. No. ete. with Blue or
Black ink Ball'point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode -
properly or fail to encode the above information, action will be taken as per commission’s notification.
Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for .
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet. N : : .

In the Answer Sheet there are four circles (@) ,(®). (C) and (D) against each question. To answer the
questions you are to mark with Ball point pen ONLY ONE circle of your choice for each question. Select
one response for each question in the Question Booklet and mark in the Answer Sheet. If you mark
more than one answer for one question, the answer will be treated as wrong. e.g. If for any item, ® is
the correct answer, you have to mark as follows : ' '

@000

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
ALLE ¢ examinati 18 g 8 and Qve ' eet to the Invigilator. You a

The sheet before the last page of the Quesﬁon Booklet can be used for Rough Work. .
For Question No. 101 to 200 in all matters and in cases of doubt, the English Version is final.
Do not tick-mark or mark the answers in the Question Booklet. '

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion. :
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